IWRIEFE ~ | chAY ~ |z ~ IR mAEYE| E N MEYEl T o X AEYE
- P hREAE~ | RRAE Loy | REME S 5 5 : 5
1t 151 2.0t 7 - ¥ev4 - 4t 7t 3&H ~v R 48
3N A SR
7,000 10,000 12,000 16,000 12,000 16,000
NS
67 H 2R
o 6,000 7,000 7,500 9,000 11,000
NS
1EXITI2D B 2%
+ » 8,000 10,000 11,000 12,000 14,000
= Y NES
PN
I HEAREZE 15,000 17,000 19,000 22,000 29,000 32,000 42.000 45,000 63,000 56,000 84,000
| 2ESAR
= {REHEED
126 BRIR |
%R
(&#%) —
OBD&®&E 3,000
Blzvyy - FTEY RS 4,000 5,000 5,000 9,000 9,000 9,000
;i BRERITFHR 14,000 14,000 14,000 14,000 14,000 14,000 14,000 14,000 14,000 14,000 14,000
= | BEaAvumER HE - EREICLYEAY T
&
A
=

=)

-~




